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X e B4ﬂ{70/- 0,32
Ho  P=po= 0,32 He: P#EPa=032 , 4=57
Annahme Lererch  hesti vamen

Pl )(S_Cl)>(7/025- = PCX<£291)=0,02595 > 0,015
P yg;,)>a,e75’ = P X <349)=09%661 > 0,975

=2 Annohme bererch A= [264/ 349]

Fur X=7305 [r'(J/ das fVJIbHI'J Aev .C’//'fh/an}e
(m Annahme beverch = Der ProzinbSote Aev L/g hler Arrser
hall }'I'fh n;'[h/L f/'}‘ﬁl///‘ﬂnf V/Vﬂhp/lf/
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Ha P 7(/,:0/7 /

/7lo N IO07'0/7’ i
6 = 150, 0,302 = 5/¢ 36 & 74,77
/ /

u= 105

Annahme beverph
P(x £a)> 0087 = PCx<94)= 00325 > 0,017

of x % p) > 0,975

>( /JIL 545‘0, o,
/ A= S—}o

= P(x<1)=098189> 0,975

A-L[ 96, 176]
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